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NIX 21 retracted — NIIR 29 7792 70

OVERVIEW

The X713 concluded that 2Py 72 ¥nX 27 retracted that which he said (that according
to °"1 the y1n of w7ph and the y2n of a 121 are 1IX172 M (even) during 0o [for we
derive X7 MIRWA 77°OKT 7IRW]), but rather maintains that WP Y21 121 YW 1870 is
NI MOR even after mos.! Our mMpoIN reconciles this with a (seemingly)
contradictory X7,

nooIN asks:
- 2190 529 5319 RN 11930 29NN (3,791 PIINT NP §I93T 110N

It is astounding! For in the first P75 of 1997 noon the X123 states; they assumed

that this Xn™M2 is according to >''1 -
- S229%9nNY %910 0 4N NN INRY *N9ray 19218 Y J80n NINT

For the Xn»721 there states, ‘the y»n of those who transgress is permitted to be

eaten after o2 because the 77°2Y 72 exchange’ their yan with the yan of 021 -
- DN NN NON 9993 YW N 1PN NNNP 5295 139701 NN

However, here we conclude that according to "9 even the y»n of a 3921 is TOR

after no®, which contradicts the X723 in 1211, where it is indicated that >121 2w %57 is MR? N0
1057 —

N1B0IN answers:
- NYPOPI NN 299 NINT NPT XPYDI 771920 DNNT 91299 U

And one can say that the 'm922' there maintain as we initially assumed was
the view of °"'aR" (that 21 5w 1% is 7057 KRS NN).

mooin offers an alternate answer:
= PIINNY NYIY RNOY TO98 NN 1919 XPHT IND U919 0N 12N

Laragn is discussing wp YW ynn; however wIpn YW yan and *751 5w ynn are similar in the sense that it is considered
R YW .
? The X m3 there was attempting to prove that a person (who is ‘suspect’) will not eat 190°X when he can eat 07
(even if it is an XRN™RT NO°R), for RNMOR 2RI XI°N7T 22w KD,
? This refers to the ruling of *" that 70977 %Y 729w YA is KA™NKTA 0K,
* This refers to 28w who are not 7wan their y»n during nos.
> This proves that 8M0°X 7381 XN 22w K2; the 2Xw will exchange his ynn (which is 0" 78172 MoOK) and receive
in return the »321 5w ynn (which is [seemingly] 8372 00).
651187 was discussing w7pn 2w ynn which has the same rule as »121 5w 1311 (see footnote # 1).
7 This is referencing those who assumed (;11720) that the Xn»12 there is according to *".
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And the n'1 explained when the X713 in 191 states that 772y 12w W 1800 are
permitted "7°n' noOT NKRY, it does not meant precisely '7o»' (immediately after

nod), for there needs to be time to exchange the y»n of the “Xw> with the y»n of the
"33, SO once T is RP1T KD, we can also say -

1NN SN MYYY MNNI DT PN RAPY 1917 N
And similarly there must be sufficient time for this y»n to be made after no»

(by the 0°101), so we can assume that this is not o7 %y 12vw yan, but rather yan which was
made after noo. However if we know that it is 70977 15V 72vWw 5721 YW 8nn it will be MoX.

SUMMARY

When the X713 in 12117 stated (according to the 'M120") that the 7702y 121w 5w 13N
are 1oOT INR? T NN since they exchange it with 0°731 Hw ¢ it is either
following the X"17 here (that >3 is 5"AMK 2721 5w X1 °NA) or 77 is not precise and
it is 7. only if there is sufficient time for the *731 to make new ynn.

THINKING IT OVER

According to the answer of the n"1 that 7n means that there must be sufficient time
(to exchange and therefore also sufficient time) to make 1097 XY yon,’ why
mention at all 295w °197; it is AN because we can assume that this ynr is from
oo nRL !

¥ See “Thinking it over’.
? See footnote # 8.
10'See X"wAm 0" in 2,7 20 on AN "7 'oIN.
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